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1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
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4. 3@ wer gfcsht ® 100 g9 (e) f&F T ) g weAre et ofit ot ¥ sW B yed geAw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. Tetd 3T & Tod g
TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % *iE IH<aR T @ sifeeh I @l €, @ W Terd IO 9 S, = 5 T sw 9@ uh S
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
o g g =t fean smom

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. Faieq eicd & Ged ¥, frafafed & @ wiA-w

Th HU GEl T 82

(a) FAEH T (FEI) THfdw &9 ¥ U
e ST g

(b) STRT STHR AR T 1-10 A 7h
g 21

(c) ¥ efurers TRl ¥ =9 B €

(d) T FAN iEifces GR WA § A S
bl 2

2. 3 wiewid TgevH W foag @ Hefua
frafafed wol W foer #ifs:

1. 3eR-3-2M (OTT) wewH @i faftafad
FHH h AR EAR Frams 28 3R EaER
a9 (DoT), HaR | (MoC) T MeitY
% ot foarg & e 2

2. MeitY ¥ 3.3 @EEMl H THAR warsi
% &Y § oiffhd e 3R 3= TEAR SR
1 @We fat@tha & &1 A4 w2

ST wedl § 9 HA-E/A TE 2R

(a) Faa 1 (b) ®ad 2

(c) 1 3R 2 <M (d Ta 1 RTE2

3. gua Wt eifufEm, 2021 % wed &
frfafea wul | faer wifa:

1. 3 fem A A wewd % fad e gfea
AR F-wla fRepra fFero @ & oy
Hie-29 w-fames o wefid W 8

2. Y% WHRe i GEAl 3R FHRO Halerd @
Y USiihd Toh W@-Tame e &1 953
AT B A WG RIhTal o1 FHE
Fapif

SfE w9 9 SE-"UA w1 22

(a) Had 1

(b) Fad 2

(c) 1 3R 2 T

(d T 1 AT 2

4. THAR oo froem @ik srdicha =

(TDSAT) &% R ® fefafad § & H-91 swed

Tt T 22

(a) U@ AWM S TDSAT &1 94 T & 39 W
foar & w1 ifusr fafsa &iAmie

1. With reference to quantum dots, which one of the
following statements is not correct?
(a) Quantum dots (QDs) are naturally occurring
'nanoscale particles'.
(b) Theirsizeusually ranges from 1-10 nanometers.
(¢) They are made of semiconductor materials.

(d) They can be used in photovoltaic solar cells.

2. Consider the following statements regarding the

controversy over OTT platform regulation:

1. There has been a dispute between MeitY and
telecom regulator TRAI and the Department
of Telecommunications (DoT), Ministry of
Communications (MoC) on regulating over-
the-top (OTT) platforms.

2. MeitY has sought to classify OTT platforms
as telecom services and regulate them like
telecom operators.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2

3. Consider the following statements with reference

to the Information Technology Act, 2021:

1. These rules apply to OTT. Establish a soft-
touch self-regulatory mechanism for the
platform with a code of conduct and a three-
tier grievance redressal mechanism.

2. Every broadcaster will have to become a
member of a self-regulatory body registered
with the Ministry of Information and
Broadcasting and resolve related complaints.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

4. Which of the following statements is not correct

about the Telecom Disputes Settlement and
Appellate Tribunal (TDSAT)?
(a) Civil Courts do not have jurisdiction to try

e & qE e 2 cases which have been referred to TDSAT.
e o 641, VO A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taarran
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(b) TDSAT §RI WIRd 31=31 fafaa e & et
% &9 § freaed 4 )

(c) == fafaa gfwan wfea gr fuifa gfean @
T 2

(d) =9 2017 & foa sifuf=9 & o< TDSAT &
fHR & 1 37 Tl I WA HH &
o =@t fen o o S Uee WiEeR SAdiely
AR & AR & o 9

. Haqs-Ig fs e faar & ded #, fefafea

HM R fa=r wifsa:

1. SRET TER A4 T & U o7 few @
frmfor g 2 foran 21

2. TH SR & gA 5 I8 1966 H s Fi
Iod ¥ e fhad 91 & a1 99 1981
e Toemern Se-sean uEar 2

3. 99 2004 | dTa faumasn 7 gS@ <A
AFm TWHeq wae i fear, foad
ST~ HTEMeh0T THEA e e T SR dere
o wage- a9 T @1 fmior st =@ Tm

STE A ¥ fhad wer wdt 72
(a) HaA Th (b) waA
(c) |t &= (d) o T

. B & H Tated =Ee™ 3 NCLAT (U ot

I ST =RfeRoT) & ] 95% & faarh

AT 1 ST H1 HEE IE H1 ¢ T

Hefua frefafed weaml w fo=m Fifse:

1. = 3 fresd weed Ame o Jenferfa
T WA & Gaied AEd & R &
aEsE Mo gAR & fod '== & &R
Fael Aifew s a2

2. HfauM @1 $1g=s% 131 Waiea A& i
A AR & ford 3fed & & il
TS T 2l

IwfE w9 9 SE-FUA TE 282
(a) Faa 1 (b) oA 2
(©) 1 3R 2 < (d) a1 SRAE 2

. HErey v weieA e o gefua fFrefefad st

R fa=r wifsa:

1. 92 & Fse &l STRH-gd fady <ot w
I A HE A6 A A ANRES G
el g gfafafuea i feerar fauifa &
1 R <A T JEEH|

(b) The order passed by the TDSAT is executable
as a decree of a civil court.

(c) Itis bound by the procedure laid down by the
Code of Civil Procedure.

(d) Following the Finance Act in the year
2017, the jurisdiction of TDSAT was
extended to include cases which were earlier
under the jurisdiction of the Cyber Appellate
Tribunal.

. In the context of the Sutlej-Yamuna Link Canal

dispute, consider the following statements:

1. Haryana government has completed the
construction of its half of the canal.

2. The root of the issue is a controversial
watersharing agreement of 1981, after
Haryana was separated from Punjab in
1966.

3. In 2004, the Punjab Assembly passed the
Punjab Termination of Agreements Act,
which voided the water-sharing agreement
and halted construction of the Sutlej-Yamuna
link in Punjab.

How many of the above statements are correct?

(b) Only two

(d) None

(a) Only one
(c) All three

. Recently the Supreme Court has initiated contempt

of court proceedings against two members of
NCLAT (National Company Law Appellate
Tribunal). Consider the following statements
regarding this:

1. The Court has issued a show cause notice
to the members for delivering the judgment
despite the Supreme Court's direction to
maintain status quo in the Finolex Cables
case.

2. Article 131 of the Constitution gives the
Supreme Court the power to punish for
contempt.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2

. Consider the following statements regarding the

Draft Patent Amendment Rules:

1. Provision to empower the Controller of
Patents to determine the consistency of
representations by individuals or civil
society organizations seeking to file pre-grant
opposition.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) Taeeit-110009 5 Tt A, AR THLRT TR, ST unt, T
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2. W H AR I R gl afuss wfe
AR, FEaTfad W T SHes <ol 9%
TEH i Hidered T Hehd 2

2. By making the process of challenging
patents more difficult, the proposed rules
could restrict access to affordable generic
drugs.

W worl A QB Which of the above statement(s) is/are correct?
(a) % 1 ) (b) %7 2 (a) 1only (b) 2 only
(¢) 1 2 = (d) 74 1 3T E 2 (¢c) Both 1and 2 (d) Neither 1 nor 2
8. wkd H wHcAfren foeme =1 feefa @ wefum 8. Consider the following statements regarding the
frefafaa wol ® faar wifa: status of same-sex marriage in India:
1. = & 9 g =it +1 9fgas 9 3 1. Recently a five-judge Constitution bench
TifiTer foame o Taentaes Sudr &1 Tt voted 3:2 against allowing same-sex marriage
3 3 fgas 32 ¥ waeE fwa constitutional validity.
). O O 3 ARER F O § gt 2. The right to marry is a constitutional right in
SRR T 2 India.
s . . 3. The Supreme Court has also refused to allow
3. e ) STl W A same-sex couples to enter the Marriage
R F A H e 2 Institution.
SudF wHeAl § 9 FA-TA T T 22 Which of the above statement(s) is/are not
(a) Had 1 (b) Had 2 i 3 correct?
() Faa 1 8iIR3  (d) 1,2 33 (a) 1only (b) 2and 3 only
0. T W del faeE-sigel TH @ ged #, (¢) 1and3 only (d) 1,2and 3
O R T T 9. With reference to National Edible Oil Mission-Oil
L. @ A W orefrd @ Rl 5w A A Palm, c?n51der the? following s'tatements:
. . 1. This scheme involves an investment of more
13,000 g ¥ (T 7 F oA H) | than Rs 13,000 crore (over a period of five
wifereh =1 frerer i 21 years) for self-reliance in edible oil.
2. 9 e o o 2025-26 T 9 7 FT Bl 2. This mission includes increasing the area
% & H 10 I TR SR A 2029-30 under palm oil cultivation to 10 lakh hectares
TH 16.7 TG BRIk TGMI IMAA by the year 2025-26 and to 16.7 lakh hectares
Iud woAl H 9 DE-T/Y TE B/R? by the year 2029-30.
(a) Fa | (b) Had 2 Which of the above statement(s) is/are correct?
(c) 1 3R 2 3 (d Td 1 RTH2 (@) 1only (b) 2 only
) ) ) o (c) Both1and2 (d) Neither 1 nor 2
10. fafefsm St daeme gfers 8 gt 10. Consider the following statements regarding
frefafea werl w famm wifm: Vizhinjam International Port Project:
1. ¥ 9Nd I TE SR THAS HR rafere 1. It is India's first and only container
el 9<TTE B transshipment deepwater port.
2. 3 il TR 3R e ded yrae fafite 2. Itis being built by the Government of Kerala
N SR ST @ R and Adani Ports Private Limited.
3. SSUME i Wehideh TeUs 18 HieX | 3iferh 3. The natural depth of the port is more than 18
%\, 59 am 20 e 9% T S el %\‘I meters, which can be further increased to 20
. . meters.
SR Fordl H w4 w2 Which of the above statements are correct?
(a) F 1 4 2 (a) 1and?2 only
(b) ol 2 i 3 (b) 2and 3 only
(c) FaA | 3N 3 (¢) 1and3 only
(d 1,2 33 () 1,2and3
T 641, UUW A, | 21, G AT, | 13/15, A9RE AA, Treve | wie FeR-45 T 454 7 47/CC, Elicicet
2 @S TN, e T, ufreht <inreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
(Magazine Test) [ERESSUSIUID =% faeett TS, RIS TGERT A, TR nt, W
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11. foerset fewieet & oR o fefafaa & @ ®=-a1 | 11. Which of the following statements is not correct
FHIT T TE =72 about willful defaulter?
(@) @ ¥F T FFET TFH F G @ ¥ (a) They have the ability to repay the bank dues
(b) T TN AW 25 @ 3R o sfus (b) Their outstanding amount is Rs 25 lakh and
bove.
It 2 y
c) It is also called outstanding on schedule
(c) Itis al lled di heduled
(c) 39 Y@HA A A & FUiRd qae W Fwhen . ,
P payment of principal or interest.
|
i (d) They don't use the amount borrowed from the
() ¥ o W IR off T A b bank anywhere else.
T Fd 12. Consider the following statements regarding the
12. a4 recently conclude residential elections in
A & H HeRE § 994 gu eafd 9 9 ly luded Presidential elections i
Fafya frafafea sl | foar #ifs@: Maldives:
: 1. Under the one-party system in Maldives, the
1. AoRd H Th-Solld oAael & ded qseufd party sy )
. . resident 1s elected for five years throug
H T AT # MW G W % President is elected for f hrough
MRS referendum.
E N < I’ 2. From 2008 till now, no President of
aldives has won the general elections twice
2. 2008 émm@uaéa Exs] Maldives h h electi .
® Fl o 3 | A am consecutively.
T o g Which of the above statement(s) is/are correct?
Iwde oAl § W SE-E/d wE 8R? (a) 1only (b) 2 only
(a) wad 1 (b) & 2 (c) Both1and2 (d) Neither 1 nor 2
© 1 3K 2 < ) T 1 dRad2 13. Consider the following geographical corridor:
1. New Eurasian Land Bridge Economic
13. frefafaa drifas Tfaam ® faar i :
. Corridor
L= I ot for st 2. China-Belarus Economic Corridor
2. HH-dored e feEr 3. China-M ; ;
. -Myanmar Economic Corridor
3. =F-HER el e How many of the above mentioned economic
I sfee e § 9 fhaw gfa smenfa corridors are included in the land-based Silk Road
foes g onfeles doe fawma o gfmfafg 22 Economic Belt development?
a) Only one (b) Only two
(a) ®IA Th (b) ®ad ] (
() T o (d) FE o T (c) All three (d) None
‘ ) | 14. Consider the following statements with
14. feoen s feaife fedt, 2016 % HeH | reference to the Insolvency and Bankruptcy Code,
frfafaa wel | faar . 2016:

1. I8 %9 NSE ¥ gdiag adifas w° & 1. It covers various laws relating to insolvency
feemen wYE W Hefua fate= s 6 resolution of business firms listed on NSE
gaIfEd L 2l only.

2. g fearferard &1 THe & gueE & fed 2. It strengthens the provisions of the existing
gl ot & RN SN oFER W THEHH legislative framework to provide a level
e e tﬁ_{q el @ 2 playing field to all classes of debtors and
S 3 creditors for resolution of the insolvency

. . problem.

ST Fol W H HA-H/A T e Which of the above statement(s) is/are correct?

(a) o 1 (b) et 2 (a) 1only (b) 2 only

(c) 1 3R 2 T (d) Fd 1 ST 2 (¢) Both1and?2 (d) Neither 1 nor 2

641, AR qA, | 21, e, | 13/15, a9TeRe A, fere | @il FoR-45 o 45-A 7o 47/CC, Ffete

L uSiE) iy

i 2w @S T, A AT, wfirent =irreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
(Magazine Test) fereett-110009 T facet e, ° S I R, S i, T
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15.

16.

17.

18.

B B H Waled =Ared g1 g S9R AT W

ot wOyH & Tl § fi¥ MU Bed § Hefud

frefafed wo | faem Sifs@:

1. 8% IER U T § TH G herd
% TS HIA I HL I & o TR
o A Yok F TH T F Fd B F
STavFehd Br

2. I T S =EeR | a8ad &l A
@ 2l

ST weAl § W wA-G/d T 22
(a) ®aad 1 (b) ®ad 2
(©) 1 @R 2 < (d) a1 T2

=JAaH 9L ed (MSP) § Hafya frefafed

FeAl W =R Fifee:

1. MSP @€ TR%Ha ¥ € S fham &l o
f S & S WHR TR HHA @Ed 2

2. Y A iR g o 22 sl wEel
% T MSP 3R 7= & fad sfaa qen
SN God (FRP) 1 Fa®Ier i 2

3. 9Rd & foadsi &1 stemera o enfefe amget
1 sfade |fafd (CCEA) MSP & &R W
sifam fofar (sTgART) ot 81

Srde H 9 fohad we wet &7

(a) HIA TH (b) HaaA I

(c) 9t = (d) ®E off T

fageft efvegm faframw ofufem & IR #

frefefad & o SE-1 HoE & T

(a) T8 o 1976 | AR & AR AHfEfi
foram T e

(b) T8 HA A Al iR e 1 KA S 9t
ozt efvem = fafmafia & &1 A #: 0

(c) Toreh steem faframm sifufrem wSieor o=
a4 & ferd 9y 2

(d) TH IR EE M % - Hls NGO TH: Tt
% ford @ e 2

AN heed & aR o Ffofad § @ &E @

HUA T ®?

(a) ORI T Fell 4 AegE B WeR forrd
TEAIETE & G i AeRm fwma

(b) 9RA A ATARY &I a¥ 2014 H UYISIA Hi
S Icisfical

(c) 9RA & HEEACT THIFT=H H1 ARl &
fera wamm

(d) @ " H (b) 3R (c) <A

15.

16.

17.

18.

Consider the following statements regarding the
recent judgment given by the Supreme Court
regarding capital taxation on telecommunication
companies:

1. According to this, instead of deducting the
entire expense outright, the company will
be required to deduct a portion of the total
charges each year for tax purposes.

2. This decision mandates a change in accounting
practice.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Consider the following statements regarding
Minimum Support Price (MSP):

1. MSP is the guaranteed amount that is given
to farmers when the government buys their
Crops.

2. The Commission for Agricultural Costs and
Prices recommends MSP for 22 specified
crops and Fair and Remunerative Price (FRP)
for sugarcane.

3. The Cabinet Committee on Economic Affairs
(CCEA)chaired by the Finance Minister of
India takes the final decision (approval) at the
level of MSP.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Which of the following statements is not correct

about the Foreign Contribution Regulation Act?

(a) It was enacted during the Emergency in the
year 1976.

(b) This law sought to regulate foreign
contributions to individuals and associations.

(¢) Foreign Contribution Regulation Act
registration is valid for five years.

(d) Once canceled an NGO is ineligible for re-
registration.

Which of the following statements is correct about

Operation Cactus?

(a) Indian armed forces foil anti-government coup
attempt in Maldives.

(b) India supplied drinking water to Bangladesh
in the year 2014.

(c) Efforts to restore the desert ecosystem of India.

(d) In this context both (b) and (c).

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR nt, W
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19.

20.

21.

22.

ToREa-fefasa 99 & Ged o, f=fafea
FeAl W foEm Fifee:

1. 39 God &1 Scaf 194 |l #id 3R 2060
T % SR W W W Hehdll © e TR
¥ Igfedl & syed & gfg gl

2. fafesr SRR 3 SIe®R =won 1917 SR T of
food frfaed= & ‘sl ol & fad I
Te' &I Tl & fod guefA e fhan T
ol

ST oAl § 9 HA-T/E T 22
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <+t (d) Fd 1 SRAE2
foretferfian gl o for iR
(FeEY) (=)

1. SRE-TSNEA & — 1948

2. frfasd gfe ST — 1964

3. % T g5 ~- 1978

Swdm # 9 fohad g weEl gafer ©2

(a) #dd TH

(b) HadA A

(c) |+t =

(d) = +F Tl
frafafed wol W foer #ifs:

1. 13 ¥ T oM, gaeq e 3 99 1913
T YHA § fqeadt Tosar &1 SO &6

2. a9 1951 H fqeadt et =1 == grr fuifa
T 9fy R TR ®E & T faae e
T

3. AR M 1 STIER0 & alel fasafadt =
ARA & JHITe § U Haifad TReR a9,
58 s fedd Jeme & 9 o ST S @)

STE HUA W 9 wE-9 T 2?2

(a) wae 1 3R 2

(b) e 2 3N 3

(c) a1 3R 3

(@ 1,2 33

IRd & % T=hU faed ¥ wefya fefafe

FeAl W fo=m Fifee:

1. wEe 3R Hiehd TR fom-1 wHaE
gfEsT % % ke fawen & yehid
Ll B

2. WS IR HFhd TH Hod-LW fafdas
e B

19.

20.

21.

22.

With reference to the Israel-Palestine conflict,
consider the following statements:

1. The origins of this conflict can be traced to
the late 19th and early 20th centuries when
Jewish immigration to Palestine increased.

2. The British government issued the Balfour
Declaration 1917 in which support was
expressed for the establishment of a 'National
Home for the Jewish People' in Palestine.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

Consider the following pairs:

(Events) (Year)
Arab-Israeli War — 1948
2. Palestine Liberation — 1964
Organization
3. Six Day War - 1978

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:

1. The 13th Dalai Lama, Thubten Gyatso,
declared Tibetan independence as early as
1913.

2. In 1951, Tibetan leaders were forced to sign
a treaty dictated by China.

3. Tibetans following the Dalai Lama formed
a government-in-exile in Dharamsala, India,
known as the Central Tibet Administration.

Which of the above statements are correct?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3 only

(d) 1,2and3

Consider the following statements regarding India's
Crew Escape System:

1. Flight Test Vehicle Abort Mission-1
demonstrates the crew escape system of the
Gaganyaan project.

2. Flight Test Vehicle is a multi-stage liquid

rocket.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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23.

24.

25.

26.

3. I8 WHAM I A A i AR
e | getud B

ITH § @ fohae wer wEl ©2

(a) HaA Th (b) FaaA I

(c) =+t = (d) =18 o T

g-Terfre gfgwa & wed o, frefafead wemt

R foar Sifsa:

1. 99 had Toed qifaeHT ey & g1
IERIS G

2. 7€ WEIfTE I SN H ASIE h Gw
SR UG A 2

STgF weAl ¥ U wH-GU/A T R?

(a) Had 1

(b) Haa 2

(¢) 1 @R 2 T

(d Tl RAE2

FET Aty T fEE §red % eR o

frefafed § 9 HHE-9 FoF T8 T2 82

(a) TE TR Yol HEIHReNerd & diid T
AR IRER FHearor HAerd 1 T e
EICETUIA

(b) TEH & TGS | 2

(c) IE T a1 A0 Wi 1 fawie doe
e Tl B

(d) IE 9 TS HIAEH T & Yadd H THEIdl
oM % ford SuEE 2

CAR-T ¥a oR"t ¥ Hafya fr=fafead swemi w

fomm =ifsa:

1. CAR-T ¥@ o&dt siffeaarifas & sas |
T €1 Gherdl 2l

2. 39 fafeam gr@ o e s 2

3. T W@E R fawm & SR & fed
off ya foran ST 2

SrdE H 9 fohan we wet #72

(a) ®IA Th (b) wad ]

(c) |t = (d) ®E off T

frefafad & 9 ®H-91 T WF-2030 T B

TR o T ©?

(a) TN 1 FEfd Tg W Yoee e U Heiferd
e

(b) YRA 1 W TE 9§ Harua el

(c) ST TW W A W® AN i wEEst &
fem & fo@ ww ol

23.

24,

25.

26.

3. It is related to the emergency safety of the
crew of Gaganyaan.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

With reference to geospatial intelligence, consider

the following statements:

1. Only Global Positioning System is used in
this.

2. This technology provides accurate information
about the location of the enemy army.

Which of the above statements is/are correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Which of the following statements is not correct

about the Central Drugs Standard Control

Organisation?

(a) Itis anational body of the Ministry of Health
and Family Welfare under the Directorate
General of Health Services.

Is the central regulatory authority?
(b)

(c) Itprovides expert advice to state drug control

Its headquarters is in Lucknow.

organizations.
(d) Itisresponsible for bringing uniformity in the
enforcement of the Drugs and Cosmetics Act.
Consider the following statements regarding
CAR-T cell therapy:
1. CAR-T cell therapy is a major breakthrough
in the treatment of osteoporosis.
2. Itis also called living drugs.
3. It is also used for the treatment of leukemia
and lymphoma.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Which one of the following is correct about
SPECS-2030 FIRST?
(a) NASA's mission related to sending satellite
to Jupiter.
(b) India's mission related to Mars.
(c) A mission to solve the problems of people

suffering from refractive errors.

(d) I F AN & fad WHO 1 T faee| (d) Amission of WHO for the treatment of cancer.
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27.

28.

29.

30.

Tt & Gl o frefafea wual wm fa=r

Hife:

1. 38 ke ) oegefl & @ H e
Bt B

2. TEH YHW H HHT A & AU 90 H
g 2

3. 30 39 of| 9 Sk femen S 2

ST wodl ¥ 9 HA-T/A FE T 282

(a) ®ad 1 (b) ®ad 2

(c) wad 1 2R 3 @ 1,2 3R 3

TR femrert & i TaeRviE gue e

(EIA) &1 3Tawashal ¥ Hafua fr=fafaa wemt

T foar Sifsa:

1. 9ge T qAiex0l &RisH (UNEP) S EIA
HI ufEset & a9 Ted 39
TIiaeig 9o &1 e i & ford
T AUl WA & ®9 § gRefa e
T R

2. Tewem™ & = Hiem qeneti-oiE Wi o,
WA TS, JEEEH R T TfafafiE &
o waor e 2

ST HeH H W HHA-A TE B2
(a) #ad 1 (b) Hae 2
(c) 1 32 T (d) Td 1 A2

SDG TR ¥eM-2023 & ded o, fr=fafaa

H | fa=r wifsa:

1. ot SDG WfeT M@, St HeMit ¥ vga
2.5 fefam smfEt sfer o, 3@ weax
At 1.5 fefeam smftet efer & w2

2. SDG &HMEEET &l Aogd & & o
aAfvrsheiatl o SioErg SR Wefa § Hefa
U1 W@ Hiegd SDG & HO WU HI @M
R = & B

U el W W wA-G/d e 22
(a) w1 (b) waA 2
(c) 1 @R 2 T (d Fa 1 RTE2

Bl € § @ SR HiY e 3 qyeH iR =ed

gonferal H oM Scas vivew 9 T Rud gy

F1, 309 Hefya fefafed Foml | foer st

1. @' RO, IPCC & B goaied Rare o
afvfd IRE wwEd & ISEvE H QW HH |
YT IESH Hl HH HH & Te™d W SR
= 2l

27.

28.

29.

30.

Consider the following statements with reference
To Myopia:

1. There is difficulty in seeing nearby objects.

2. In this the focus of light is in the front part of
the retina.

3. Itis corrected with a convex lens.

Which of the above statement(s) is/are not correct?
(a) 1only (b) 2 only

(c) 1and3 only (d) 1,2and 3
Consider the following statements regarding the
need for Environmental Impact Assessment (EIA)
of the Indian Himalayan region:

1. EIA has been defined by the United Nations
Environment Program (UNEP) as an
important tool for assessing the environmental
consequences of projects before their
implementation.

2. The Himalayan region is prone to extreme
weather conditions—such as heavy rainfall,
flash floods, landslides and seismic activity.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(¢) Both 1and2 (d) Neither 1 nor 2
With reference to SDG Summit-2023, consider the
following statements:

1. The annual SDG funding gap, which stood at
US $2.5 trillion before the pandemic, has now
declined to an estimated US $1.5 trillion.

2. To strengthen SDG implementation, actors
have called for expanding debt swaps for the
SDGs, including climate and nature-related
debt swaps.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(¢) Both1and2 (d) Neither 1 nor 2
Recently the Food and Agriculture Organization
published a report titled Methane emissions in
livestock and rice systems, consider the following
statements related to it:

1. This report emphasizes the importance of
reducing methane emissions in meeting the
objectives of the Paris Agreement outlined
in the IPCC Sixth Assessment Report.
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32.

33.

2. el I I TYE SR W TEEE H
AfYesh TR W HEE Sid WO SoEs |
ST 32% 1 AMEE 2

3. WEd & Ed 9 Afafed 3% Wed IcasH
g 2

ST el § W HA-9 T 22

(a) @ae 1 3R 2 (b) et 2 3R 3

(c) ot 1 3R 3 d 1,2 3R 3

WIq & g W USHAlE UAE % aR |

frefefead & o -9 TH Hed e T 82

(a) A SRSAFIEE i o § SHH! RS
IHIHTOT T Al HH el

(b) THRT AHESTE Sleehlel T Teh IR
1 BIa 2

(c) IgHed H I A & URf9sw 20 st
o, Weq &1 it g9@ CO, ® go H
80 T 3tfuk 2l

(d) =9 g3 & W (a) R (b) T

T 9iEed-2023 & gdian RO & 93 ¥,

fr=fafaa wol w® faar Fifs:

1. 78 RUd =R @R faem ® 99w T
e o g SR feRar T

2. 39 U & ofER S AfEeT 9
GHG 3SH T I U8cl i o § a9
2023 H 20% 31fush < fehar T 2

3. 39 RO & STER Ui SieEmEsH aifties
THF AN ) HH HE T GeEE

ST oAl § 9 HA-A/A " 2R

(a) ol 1 3R 2 (b) et 2

(c) e 1 3R 3 (d 1,2 3R 3

HRA I% sy & Hed d, frfafed wed |

fo=r wifsE:

1. 9 98a & 99 2023 H SEifea 379
A FRA A% RS # dew
=g feram

2. THH ISV HHel & W= | gard fafaat
FT TREN, TRV T QAR HET 2

SwfE w9 9 SE-FUA w1 282

(a) Had 1

(b) Faad 2

(c) 1 3R 2 <M

(d T 1 AT 2

31.

32.

33.

2. Ruminant livestock and manure management
contribute about 32% of anthropogenic
methane emissions globally.

3. Ricefields produce an additional 3% methane
emissions.

Which of the above statements are correct?

(a) 1and?2only (b) 2 and 3 only

(c¢) 1and3 only (d) 1,2 and 3

Which one of the following statements about the

effects of methane on climate is not correct?

(a) Compared to carbon dioxide, its global
warming potential is less.

(b)

(c) In the initial 20 years of its existence in the

Its atmospheric lifetime is about a decade.

atmosphere, the warming effect of methane
is 80 times greater than that of CO2.
(d) In this context both (a) and (b) above.
With reference to the Review Report of Maritime
Transport-2023, consider the following statements:

1. This report was released by the United Nations
Conference on Trade and Development

2. According to this report, GHG emissions from
international shipping have been recorded
20% more in the year 2023 compared to a
decade ago.

3. According to this report, complete
decarbonization is helpful in reducing annual
fuel costs.

Which of the above statement(s) is/are correct?
(a) 1and2only (b) 2 only

(¢) 1and 3 only (d) 1,2and 3

With reference to Coral Reef Breakthrough,
consider the following statements:

1. This initiative was launched at the 37th
International Coral Reef Initiative meeting
to be held in the year 2023.

2. Its objective is to protect, conserve and restore
coral reefs in the future of humanity.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2
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35.

36.

37.

38.

yare fafa & @ed o frafafea § @ wE-w

HU el T 7?2

(a) TE = G S 2l

(b) ¥ Siferctt e SiaTel & @1l GESidl queh
¥ T B

(c) ¥ el il TR H T S 2

(d) ¥ geFa: foged W & Hf w®E 23.5 el
% it e e & | ag e )

T2 ot G Frefefed § 9 el feod 272

(a) STHIHT HEGY & IW-UY=H § 3ecllfich
TRTEFR H

(b) =faolt smRe #WeEY & IW-qd ¥ wend
TRTEFR H

(c) IuET & Ufv=m ¥ wend HEEFR H

(d) TR & ITW-Yal 9@ W YLd HEHIR
g=

T A H T 3 e T i e w1 st

33H 1 T 39 ged o, frfafag wenl = faer

EAISDE

1. 3T& T&d o™ 1 WA WS wt g
T g & w2

2. ifqF IR REE & o =il o1 3feed
3E HE WHR F R fhan S|

ST For 4 HHA-TUA TE B2

(a) ®ad 1 (b) HaA 2

(c) 1 @R 2 g (d) Td 1 T2

e -

(a) ET GN WIST T et 9§ e 3y feera
EREn(

(b) TH = SE fewe @l G

(c) FsH & el g W feod w9 a1 HheXl

(d) TEENH & F99 TR qd W UM W A
Sicl

B & H Yl eRa "R § shardl &1 egfd §

gfg & wH’d H, fFd U st 9 Heafud

frfafed wul | fa=ar wif:

1. I8 stz feoett favafaeme & g fowan
T e

2. TUH TIE HRU TR S & IEE hl Tl
T R
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Which of the following statements is not correct
regarding coral reef?

(a) Itis a calcareous organism.

(b) They live in symbiotic contact with algae
called Zooxanthilli.

(¢) They are found in deep water level.

(d) They are mainly found in the oceanic areas
located under 23.5 degrees on both sides of
the Equator.

Where among the following is the Great Barrier
Reef located?

(a) Inthe Atlantic Ocean to the north-west of the
African continent

In the Pacific Ocean to the north-east of the
South American continent.

(c) In the Pacific Ocean to the west of USA
(d)

(b)

In the Pacific Ocean off the north-eastern coast
of Australia
Recently the Cabinet approved the royalty rates
for mining. In this context, consider the following
statements:
1. Under this, Lithium has been removed from
the list of nuclear minerals.
2. Theallocation of blocks for Lithium and REE
will now be done by the Central Government.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither I nor 2

(a) 1only

(c) Both1and2

Niobium is-

(a) The most distant Comet from the Earth
discovered by NASA.

(b) Asilvery looking metal.

(c) The largest crater located on the south pole
of the Moon.

(d) Organisms found at the deepest level of the

oceans.

In the context of the recent increase in the

frequency of cyclones in the eastern Arabian Sea,

consider the following statements related to the

study conducted:

1. This study was done by Delhi University.

2. Its main reason has been said to be the

agitation of sea water.

?‘Tﬁﬂﬁ Fol § 9 wE-"/A wE e Which of the above statement(s) is/are correct?
(a) Had 1 (b) ®ad 2 (a) 1 only (b) 2 only
(c) 1 R 2 T (d) 7 R ) (¢) Both 1and2 (d) Neither 1 nor 2
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39. W Ud Hfv gmeq & ded o, fr=fafea wemt
R fo=r Hifsa:
. 9% HgF T TS 1 TG TSl 2
2. fova # wewerda fefgal =1 foafd | TR

Tl THH! Tedl | 9 T 2
3. fave @@ wEwa @R i S fawm
FIY THT YHE TeArm geend )
ITde § @ fohae wer wEl ©2
(a) g TH (b) ®ad |
(c) 9t = (d) & o 7T
40. Frefafes g9 | fa=m Sifs@:
(et |qE ) (=)
JC: i - e
2. femmn - freim
3. o - fafgra
S o 9 fohrae g W gufed €2
(a) FadA TH OEEGR
(c) Tt = (d) w1 o 7T

41. wITSeh-anffe @R Sfd-SFoET (SECC) &
w9 H Yol SUET T ST fefafed § °
form a9 T = e
(a) 1872 (b) 1881
(c) 1931 (d) 1951

42, YA TEE SR S e % SIeRl 9
Hafyd Waled <A@ & o & 9] 1,
frfafea wol | faar wifa:

. = | THiE % 268 9wE ¥ TR @l
wfgen &t 1o I F eTEfd A G T
T T

2. ITAqH AEIEE T S I SRR
el S 3N e dohlel ®9 ¥ T H
M W A HI G FE

ST Fo 4 HHA-TUA TE B2

(a) Faa 1 (b) Had 2

(c) 1 3R 2 T (d) Td 1 ST 2

43. Bl Seft 1 o fesrehen & waof o, FreAfefaa
o ¥ HE-T HUA WE T B2
(a) 34 foashen =i fasfad wa g wifd &

39. With reference to Food and Agriculture
Organization, consider the following statements:

1. Tt is the main agency of the United Nations.

2. Monitoring the situation of desert locusts in
the world is one of its initiatives.

3. World Food Program and International
Agricultural Development Fund are its main
supporting institutions.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

40. Consider the following pairs:

(Ethnic group) (State)
1. Apatani - Meghalaya
2. Dimasa - Mizoram
3. Lepcha - Sikkim
How many of the above pairs are correctly
matched?

(a) Only one (b) Only two
(c) All three (d) None
41. Inwhich of the following years was the first census

in the form of Socio-Economic and Caste Census

(SECC) conducted?
(a) 1872 (b) 1881
(c) 1931 (d) 1951

42. In the context of the Supreme Court judgment
regarding reproductive autonomy and rights of the
unborn child, consider the following statements:

1. The court refused to allow a woman going
through the 26th week of pregnancy to
undergo abortion.

2. The Supreme Court said that abortion should
be allowed only when life and health are in
immediate danger.

Which of the above statements is/are correct?
(a) onlyl (b) only2
(c) Both1and2 (d) Neither I nor 2

43. With reference to Mewari style miniature painting,

which of the following statements is not correct?

(a) The people who developed this painting were

T of Rod caste.
(b) T =HRIA T SR Tedel HroHTcHeh SHT0T (b) Simple bright colors and direct emotional
Tg&! favam 2 appeal are its characteristics.
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(c) et oft st Uo foma &t qern |
Targ w1 Tesren eifus = off|

(d) e 39 el & g femer &)

Boafd et e & 9™ 9@ 9 getid

frfafaa wot | foar wifs:

1. a9 @ H1 TR ek REst A s
% YA AFSTA @H Hl & & TR SAR
fem

2. 9% 99 7@ IqAH H Hag o SSrHar Sem
¥ feod w9 dueerd ¥ @ T R

ITH weAl § 9 HA-T/A T 2R

(a) Haa | (b) HaA 2

(c) 1 3R 2 <Ml (d) Fd 1 SRAE2

forerffan g W R iR

(Z=5) (& e oTeT &)

1. T (1664) -~ foamsh @ik gt sam
ERIEGIECIE]

2. foemg (1670) — = 79 Iwmre SR
affeereel & fagdl MR

3. WATTE (1659)— TS iR STa9H TS
& o=

Swfm A 9 fohad g ol gafer ©2

(a) IA TH (b) ®aA |

(c) It @ (d) =18 o T

Sterst fmior it g faeg areft fafir st gestitoa

9 gafua fefafea wo W faer i

. ¥E Yed Wi e SR AR A %
SN URY foRan T 2

2. 39 fafy 9@ ffifa 21 X *1 FaE Al e
snfeen 9 SR &1 aE & fod S

ST weAl § W wA-G/d T 22
(a) o 1 (b) Hae 2
(c) 1 3R 2 <M (d Ta 1 RTE 2

qRd ¥ T uRaed &1 aauH feafa & w3 ¥,

frafafaa wul | four i

1. 9Rd G IReed 90 % fE@e 9 95% @i
qod % fede ¥ 68% SAMUR e 21

2. a9 2014 H, YRd TWHER 7 GETME NeRa
T $IR @ et & faehm &1 gfe
Y HEETRIE AR Ao wRed IE TR

3. WRNIE ¥ fava #i wad agt S g Tt
gl =1 & 2
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(c) The painting of Mewar was more widespread
than that of any other Rajasthani princely
state.

(d)

Consider the following statements related to the

Sahibdin was a famous painter of this style.

tiger claw of Chhatrapati Shivaji Maharaj:
1. Using the tiger's claw, Shivaji killed Adilshah's
commander Afzal Khan.
2. This tiger claw is currently kept in the State
Museum located in Jijamata Udyan, Mumbai.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(¢) Both 1and2 (d) Neither 1 nor 2
Consider the following pairs:

(War) (Fought between)

1. Surat (1664) — Shivaji and Mughal
captain Inayat Khan

2. Sinhagarh (1670) — Baji Prabhu Deshpande
and Siddi Masood of
Adilshahi

3. Pratapgarh (1659)— Between Shivaji and
Udaybhan Rathod

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding
reviving the ancient stitched method of
shipbuilding:

1. This initiative has been started by the Ministry
of Culture and the Indian Navy.

2. The 21 meter long ship built by this method
will travel from Odisha to Indonesia.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to the present status of maritime transport in India:

1. India handles 95% of sea transport trade by
volume and 68% by value.

2. In 2014, the Government of India launched
the ambitious Sagar Mala program with a
view to develop port-based development and
logistics-intensive industries.

3. Mabharashtra is home to the world's largest

ship breaking facility.
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IwfE w9 9 SE-FUA TE 22

(a) wad 1 (b) wae 2 3R 3

(c) wea 1 3R 3 (d 1,2 33

YR % N ¥ FreAfafea wedl & 9 wE-w

TE & 27

(a) 3 3o ey 1 wuida wfwm T 2

(b) 3= ufes efge o o Y i Tl gl 21

(c) ®Tel & § whHileh i TR 4 STee & I
e % for 15 st FrE fEm R

(d) T° ®9 39 ° & TueqE "ol @R geH
Hifid 1 heR Ufneror fan S e

i WO | et fHefafed wo | faur

Hifsa:

1. 9Ra # 9l STRied a9 U8 AR H
fRqor & AR AR THAR Hdl g gE TR
T e

2. SW YRGB 39 12 vasdl | THER & g
A T e

ST HeA H W HHA-A TE B2
(a) e | (b) Fet 2
(c) 1 @2 T (d) Td 1 A2

e T yomet & wed H, frefafea wemt

T foar Fifsa:

1. 98 T dhdle] &9 9 3Sq HE gee
e gt € S FRE @R fresr % fod
fessa fman T R

2. W U, % R HER yonferdl 1 gt
e

3. 9Rd &1 Ue TR BE UFeR e au
2016 § RA-ThEd HH W Y& e T
ol

ST Forl H § HHA-FUA T T /2

(a) w1

(b) e 2 3N 3

(c) ®dd 3

(d 1,2 33

TSIt 39 W ToNEA & foarsl & wed

¥ frafafed oAl W foem Fifse:

1. T BRE2E TSREA R Sied & o feer
foanfea & 21

2. AR % ToREA IR e & ot faarfd &=
21 58 R oduH & SoREd 1 el 2
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Which of the above statement(s) is/are correct?

(a) 1only (b) 2 and 3 only

(c¢) 1and3 only (d) 1,2and 3

Which of the following statements about Odhuvar

is not correct?

(a) They are devotional singers dedicated to
Shaiva temples.

(b) They are not allowed to enter the sacred

sanctum.

(c) Recently the Government of Karnataka has
appointed 15 Odhurs for the Shaiva temples
of Bangalore.

(d) He was given rigorous training in Thirumurai

texts and Thevaram music at an early age.

Consider the following statements related to Bhakti

tradition:

1. The Bhakti movement in India was first started
by the Alwar and Nayanar saints of the South
in the medieval period.

2. It was brought to North India by Ramanand
in the 12th century.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2

With reference to smart fencing system, consider

the following statements:

1. Ttisatechnologically advanced border security
infrastructure designed for surveillance and
control.

2. Itinvolves a combination of sensors, cameras
and communication systems.

3. India's first smart fence pilot project was
started in the year 2016 on the India-Pakistan
border.

Which of the above statement(s) is/are not correct?

(a) 1only

(b) 2and 3 only

(¢) 3only

(d 1,2and3

Consider the following statements with reference

to Israel's territorial disputes with neighboring

countries:

1. Golan Heights is a disputed area located
between Israel and Jordan.

2. West Bank is a disputed area between Israel
and Egypt. Which is currently occupied by
Israel.
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52.

53.

54.

55.

IwfE w9 9 SE-FUA TE 22

(a) Had 1 (b) HaA 2

(c) 1 &R 2 g (d Fd 1 SRAE2

THhiga PER Fale ¥ gafua f=fafed semt

R fa=r wifsa:

1. 7% & IR WHifaw ek ¥ Aol
ol Wageiiel dmiiferss & & fod © &
FHHE & q&d Al GAIeT 1 Thihd HAM
T SR B

2. 99 1999 & g & AR o wRAA R
HH U HelgeH sarze o wHigy &
RCERCAISEICRER IR

SUge sl § W wiA-G/d e 22
(a) Had 1 (b) HaA 2
(¢) 1 22 =F (d) a1 A2

=9 A & Al & wed o, frefafea

o ¥ HE-H HUA TE T B2

(a) 3=9 <A & & e w1 gl
Hafyd T % T g ARG % S
e & TOEe W) R S R

(b) I=9 AT & AN+ fawier Cll
AR < adieean =i arel SHictsEE g
1 Sl B

(c) 3=9 <A & H&A A & I
=ea ® e & fod feslt am &
fomfer 0 ¥ wd ow q aftsan
=ArEeiel @ TEY T e B

(d) ¥ Tl H I (a) S (b) T

T & H gas ANRe §e g SR 9Rd o

Yo A % TeIE W RO w1 % sgER

frefafaa o 9 siA-=1 79 RTI fasean o gl

TE UEYH G A T §72
(a) =M s (b) dfHerrg
(c) TY U= (d) HENI

ST G AN % IR § Frefafed § 9 wH-a
FHoH T T 22

52.

53.

54.

55.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither I nor 2

(a) 1only

(c) Both 1 and?2
Consider the following statements regarding
Integrated Theater Command:

1. It is the concept of unified command of the
three armies under a single commander for
any sensitive geographical areas important
from security and strategic point of view.

2. The formation of Joint Theater Commands
was first suggested by the Kargil Review
Committee formed after the 1999 war.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Which of the following statements is not correct

regarding High Court judges?

(a) The Chief Justice of the High Court is
appointed by the Governor of the concerned
State on the advice of the Chief Justice of
India.

(b) High Court judges are recommended by a

collegium consisting of the CJI and the two

senior-most judges.

The Chief Justice of the High Court is required

to consult his two senior-most judges before

(©)

recommending a name for appointment to the
High Court.
(d) In this context both (a) and (b) above
Which of the following states is the worst
performing state in RTI response as per the report
card on the performance of Information
Commissions in India released recently by Vigilant
Citizens Organisation?
(a) West Bengal (b) Tamil Nadu
(¢) Andhra Pradesh (d) Mabharashtra
Which of the following statements is not correct

about the Central Information Commission?

] (a) It was established in the year 2005.
(@ 5 .aﬁ 2005 H T TE #fl (b) This commission consists of a Chief
(b) =9 3 " T R SRR G R 3 Information Commissioner and 3 other
ST AT ST R 2l Information Commissioners.
(c) 8 TeEAl 1 Fgfer Tegufa gR1 wsh @il (c) Its members are appointed by the President
1 famifer | & SR 2 on the recommendation of a committee.
(d) 3UH = REIRRIES % I el e g (d) Its members are not eligible for reappointment.
refi e 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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56.

57.

58.

M sifn & w]ed o, frafafaa sorl | fa=ar

Hife:

1. 3H% IARA | STHIAA 991 T qfRa 100%
TeteRtuia 3R wreH-Ha Bl 2

2. THH IWRA I & ToRIArad ¥ gEgeH
AR g W A AN 1 STAN Hih
fopen ST 21

3. 9Rd THH oW 9 SARE ARl
9 B

Swde § 9 fohad e wEl €2

(a) oA Th (b) et T

(c) Ot = (d) w1 o 7T

g deF Ao ¥ Hafud fefafed wem

foram wifsmar:

1. 39 ASHT & Fdiid U= WRI W ||
V@ A T w1 Al 4w 2

2. T AN &I hEF TSk SR FEE S
FY & G HS UG HIAT SIUm|

ST FoA H 9 HHA-TUA TE B2

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d) a1 A2

s e oifve foeen 9 wefua frefafed

HoAl W fo=m wifsE:

1. 9% &g wfgefad & fod wrRd &1 9een
ow ire faww 2

2. WUEES A U TS e de s
e faeed & 98el =ROT 1 Sgened feha

3. I8 160 fwHl./He q& &t fa 9 uf=nfea
4 ¥ e g

56.

57.

58.

With reference to Green Ammonia, consider the
following statements:

1. The process of producing Ammonia is 100%
renewable and carbon-free.

2. It is produced by electrolysis of water using
hydrogen and nitrogen separated from air.

3. India is its largest producer and exporter.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements related to Setu
Bandhan Scheme:

1. Under this scheme, seven major bridge
projects have been approved in Arunachal
Pradesh.

2. Funds for this scheme will be provided
through the Central Road and Infrastructure
Fund.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following statements regarding
Regional Rapid Transit System:

1. TtisIndia's first mass rapid system for regional
connectivity.

2. The Prime Minister has inaugurated the first
phase of the National Capital Region Regional
Rapid Transit System.

3. Itis capable of operating at speeds up to 160
km/hr.

STF Ferl # @ HA-9 W 22 Which of the above statements are correct?
(@) ®ad 1 R 2  (b) Fa@ 2 3R 3 (2) 1and 2 only (b) 2 and 3 only
() ®aa 1 33 (d) 1,2 3R 3 (c) 1and3 only (d) 1,2and3
59. UwTEe & o) | TrefeiEd § 9 -9 T %24 | 59. Which one of the following statements about
el el €2 graphite is not correct?
(a) IE HEA G I Bl 2l (a) It is made of carbon.
(b) I foga den A9 w1 GATeTh B 2 (b) Itis agood conductor of electricity and heat.
(c) =H&h1 ST Hh U S S 2 (c) Pencils are made using it.
(d) =99 fava & wH-ferl UwEe #1 A (d) China produces one-third of the world's
Ll B graphite.
i S 641, VoW A, | 21, YWT AS, | 13/15, A9Tehe AT, ke | wite How-45 q 45-A 7d 47/CC, afefres
2 @S TN, e T, ufreht <inreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
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60.

61.

62.

63.

64.

TIEd e o™ & §ed H, frAfafea weHt

T foar Sifsa:

1. 78 T agueld STgeH1-QEHi 4eas ©
AR wig o et = 2

2. 39 TSEYA & STdd I 39 & qehAlh I
HEH-JIH I T

ST oAl § 9 HA-T/E T 22

(a) a1 (b) e 2
(¢) 1 @ 2 =H (d Fa 1 RTE2
frefafed 7 @ 9rg = few g =

FecH-rEiiel A R eEgeH S

et i foemfed feman 272

(a) YIRAT YRt TEAM, WSTR

(b) YA YENfTRT GTAM, TEE

(c) YIRd eifient T, Hag

(d) YIRdE FEifient g, fuay,

FieH 35 & Hed ¥ frAfafed wud W fo=m

HIfS:

1. I REWET & §E H Q) FleH Taeens
% o el R w START FE o ufafda
Ll B

2. za fafogm-6 wHmEt oot s TE e
2 S uh HgH sAifewel AR gahia S
o w2 B

3. 7€ I T WRON | W H B

IwfE FUAl W 9 SE-F/A T T 20

(a) e 1 (b) Fae 2 3R 3
(c) e 3 (@ 1,2 33
Teell o frefafed § 9 fog 9 ¥ fiom 22
(a) FERT (b) hfesh

(c) e (d) BiETg

-3l 2l 3N BE-3ed 2ol & Y AR
T gefuq frefafed wem | fomm wifsa:
1. ST Hgel iR TE-vd wea SfEfwT Jeaw

60.

61.

62.

63.

64.

Consider the following statements with reference
to the Five Eyes Alliance:

1. It is a multilateral intelligence-sharing
network made up of Australia, Canada, United
Kingdom, USA and France.

2. Under this alliance, these countries exchange
defense technology.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c¢) Both1and2 (d) Neither 1 nor 2
Which of the following institutes of India has
developed quantum-technology supported green
hydrogen production technology?

(a) Indian Institute of Technology, Kharagpur
(b)
(c) Indian Institute of Technology, Mumbai
(d) Indian Institute of Technology, BHU.

Consider the following statements with reference

Indian Institute of Technology, Madras

to Quantum engine:

1. Tt converts the energy difference between two
quantum states of a group of atoms into useful
work.

2. It contains a gas containing Lithium-6 atoms
trapped in a combined optical and magnetic
trap.

3. This engine works in two stages.

Which of the above statement(s) is/are not correct?
(b) 2 and 3 only
(d) 1,2and 3

Dandeli Forest is situated in which of the following

(a) 1only
(c) 3only

states?
(a) Maharashtra
(c) Telangana

(b) Karnataka
(d) Chhattisgarh
Consider the following statements regarding illegal
trade in soft-shell turtles and hard-shell turtles:
1. Chennai has emerged as a primary node in
the tortoise and hard-shell turtle trafficking

network.

# Wofad de ® w9 H I T 2. International smuggling of soft-shell turtles
2. 9RA § WHR-IA TeA Hl FaURF TR from India mostly happens in European
E2IEGR '{ﬁ'ﬁ'ﬁr 29 1 B 2 countries.
3. 9RAE WHR-Td o WS S H WYY § 3. The Indian Soft-Shell Turtle is a freshwater
S Fad T TS | TR S 2 reptile found only in the Ganga River.
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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65.

66.

67.

68.

69.

S § 9 fohad e e €72

(a) HIA TH (b) HaA I

(c) |ft &= (d) = ot F&F

FHIES Tell-gyehlg =et & aR § fefafed o

Y HA-H FHUT TE 22

(a) TE HYHR ¥ feorg 21

(b) T2 fave & waw aiferen S o1 g &9 ©

(c) ¥E 3TEUIEd U9 H e iR HiH & Wiy

T W= w2

7 feued Ry o W aelt e o e

S B

15-fofeg fodie sraume & §eyd o frfafed

FAl W =R Fifee:

1. TH® STIER @ i v Halei sk g
R Y HTH HA O W B e ULl e
qEF W TR S G|

2. W-2fthek HeE i SR 15-fe fade
Y e ST R

ST For 4 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) T 1 R AE2

B € ¥ o] werR R wHifquee 1 stegem

frefafaa & 9 g <@ =1 d@idt 7 22

(a) 9RA (b) IfEur sTRIeRT

(c) Hicient (d) wfer™E

WIFhT HEF e fovafaerea o Hafua

ffafed wol W foer Fifsa:

1. 3HHT T SUATE T § hl S

2. THHI M SACEE o TR WA &
T T T R

ST FoA 9 BHA-TUA TE B2

(a) ®ad 1 (b) HaA 2

(c) 1 3R 2 < (d) Td 1 ST 2

frAfafea wol | faar wifa:

HUA-1 : G o Wehfa g W eneiia € SR
& U/ & = o ¥ e B

-1 ;. TEEE F wEE SR B ST
% T8d Ioaan e 1 FGAE § GHfa w1 e
HE Al AfCaTtdl 1 Gikpiae AR it
TgaM 1 & & o2 T enfHes sie sl A=
M T B

(d)

65.

66.

67.

68.

69.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Which of the following statements is correct
about Kaobal Gali-Mushkoh Valley?

(a) Itis located in Kashmir.

(b) Ttis the highest altitude battlefield in the world.
(c) It shares borders with Bhutan and China in
Arunachal Pradesh.

It is also called Kesar Valley in Himachal
Pradesh.

Consider the following statements with reference

(d)

to the 15-Minutes Cities concept:

1. According to this, people should have access
to essential services at a very short distance
from home where they can be reached on foot
or by bike.

2. Low-traffic neighborhoods are often
considered 15-minute cities.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Recently, the presidency of the Indian Ocean Rim
Association has been handed over to which of the
following countries?

(a) India (b) South Africa

(c) Sri Lanka (d) Mauritius
Consider the following statements regarding
Sarakka Central Tribal University:

1. It will be established in the state of
Chhattisgarh.

2. Itisnamed after the tribal goddess Sammakka-
Sarakka.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements:

Statement-I: Sarna Dharma is based on nature
worship and is different from other mainstream

religions.

Statement-11: Under the Fifth and Sixth Schedule
of the Constitution, the Supreme Court has
currently recognized the Sarna Religious Code to
protect the cultural and religious identity of the

tribals who worship nature.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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70.

71.

72.

73.

74.

SwE weAl % WX ¥, fFEfatad § 9 wE-w
T TE 7?2

(a) HEF-1 3R HeF-11 I TEl € a0 weF-11,
HUA-1 *1 T A 2
HUA-1 IR HUA-11 <A1 Tl € qe HeA-11,
FUA-1 *1 TE = T 2l

(c) FUA-1 Tl & R HUA-11 Tord 2l

(d) FA-1 Terd & IR FHeA-11 TE 2
fr=fafas el w faar S

1. fw®e (T20) 2. AT e

3. I 4. T

ISP H W fea @l & ocfus T A
Tew 2028 & fod eesH wfafa g1 w@ier
T feren T 22

(b)

(a) HaA ThH (b) FaaA I

(c) ®aa dH (d) |+t =R
frafafea 4 9 fod Sus Somee o € 9Ra
I §HE Y8 fRan T3 ar?

(a) SEAYHTT ARFI  (b) ST G

(c) I FIfhT (d) 9o gt

Y AR W gefua frefafea Fua w faeEr

EAISDE

1. ST fHfor 16a Sraest | e™d aFA =TT
39 & G HAAT T Al

2. 3 =EE Umel & AW 9 off S S 2l

3. € HiAT SEgH BT Th Seh S B

ST wodl ¥ 9 HA-T/A T T 282

(a) o 1 (b) @t 2 3R 3

(c) od 3 (@ 1,2 3R 3

a2 2fen foos QR & Hed d frefafed

FeAl W fo=m Fifee:

1. I8 JTRR AR N USH fRar S g

2. 2023 1 faae ToRE & Giel Ma w &
T R

SudE wedAl W W SE-"/A T 2?2
(a) #ad 1 (b) et 2
(c) 1 3R 2 < (d) T 1 A2

T[] HIed Hlesh TEHAZH STeaHe TR o o

Y frefofaa & o wF-91 %o T T 82

(a) 7€ 9RATE T S o1 Helted HEE ®

(b) I HR TR WRd Flesh = & R &M
fopa < 2

70.

71.

72.

73.

74.

Regarding the above statements, which one of the

following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation of
Statement-1I.

(b) Both Statement-I and Statement-II are correct

and Statement-I1I is not the correct explanation

of Statement-I.

Statement-I is correct and Statement-II is

incorrect.

(©

Statement-I is incorrect and Statement-II is
correct.

(d)

Consider the following sports:
1. Cricket (T20) 2. Flag football
3. Lacrosse 4. Squash

How many of the above sports have been accepted
by the Organizing Committee for the Olympic
Games Los Angeles 20287

(a) Only one (b) Only two

(c) Only three (d) All four

Who among the following was awarded Bharat
Ratna during his lifetime?

(a) Jaiprakash Narayan (b) Nanaji Deshmukh
(c) Bhupen Hazarika (d) Pranab Mukherjee

Consider the following statements regarding
Jagannath Temple:
1. It was built by Anant Varman Chodaganga
Dev in the 16th century.
It is also known as White Pagoda.
3. It is an excellent example of Kalinga
architecture.

Which of the above statement(s) is/are not correct?
(b) 2 and 3 only
(d) 1,2and 3
Consider the following statements with reference
to the Best Tourism Village Award:

1. This award is given by UNESCO.

2. The title of 2023 has been given to Dhordo

village of Gujarat.

(a) 1only
(¢) 3only

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Which of the following statements is not correct
about the Dadasaheb Phalke Lifetime Achievement
Award?

(a) Thisis the highest honor of the Indian cinema
world.

This award is given by Dadasaheb Phalke
Trust.

(b)

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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(c) TR WHA &l A & H I8 [EHR YA
o T R

(d) =@ T & ST (b) 3R (¢) I

75. W 6 aE ® Hed # Ffafed wu w

faar wifs:

1. 3 @eal 5 & sffRyer § wium e
W Tt fan e R

2. 7§ 3N Tkt 1 108 HIE S w2

ITE wodl § 9 HA-T/A T 2R

(a) Had 1

(b) Fad 2

(¢) 1 22 =H

(d Fd 1 ARTE2

76. IYFH T & IR H fAfafed we W

faar wifs:

1. =8 Hal &1 A o 3@ 2

2. I8 AU i Afecnsl gRI TAHE Hell &
Y HAE Sl 2

3. T8 Y% a9 feg dholel & dfbd GEhi
% ITEN 0] SFHEE i Y& el B

IwfE w9 9 SE-FUA HE 82
(a) a1 (b) et 2 3R 3
(c) Had 3 (@ 1,2 3R 3

77. frafafaa g | faur wifa:

(GI 3 e 3e15) (T=9)
1. e =Xt - AT
2. IW@ME - STEUTE YRS
3. &Ad - Tan
S o 9 foha g wet gufe €2
(a) HIA TH (b) ®aa &
(c) I = (d) =18 o T

78. fr=fafad ol W faar wifs3:

1. 9ME dR& IEE hx &1 T4 98 2017 H
fopam = e

2. IR sfafte fom Td WeifieRT weer ufern
1 Tee Aafer favafaamem 2

3. 9RATE T e HegH 3R qiieehor &%
foroit efafier STl oIk wre-arem & Tiafatu
w1 Frdteron e 21

(c) Waheeda Rehman has recently been given this
award.
(d) In this context both (b) and (c¢) above
75. Consider the following statements with reference
to the Statue of Oneness:
1. It is established on Mandhata mountain at
Omkareshwar in Khandwa district.
2. This is a 108 feet high statue of Adi
Shankaracharya.
Which of the above statement(s) is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
76. Consider the following statements regarding
Bathukamma Festival:
1. It is a nine-day festival of flowers.
2. It is celebrated by the women of Tamil
Nadu with local flowers.
3. It starts every year on Shravan Amavasya
according to the Tamil version of the Hindu
calendar.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 and 3 only
(c) 3only (d) 1,2and 3
77. Consider the following pairs:
(Products receiving GI tag) (State)
1. Yak Churpi — Ladakh
2. Arkhav Tai — Arunachal Pradesh
3. Kernel — Goa
How many of the above pairs are correctly
matched?

(a) Only one (b) Only two
(c) All three (d) None
78. Consider the following statements:
1. Human Spaceflight Center was formed in the
year 2017.
2. Indian Institute of Space Science and
Technology is Asia's first space university.
3. The Indian National Space Promotion and
Authorization Center oversees the activities

of private space enterprises and start-ups.

sefF § ¥ R wem e 82 How many of the above statements are correct?
(a) e ThH (b) e | (a) Only one (b) Only two
(c) Tt @ (d) = ot ¥ (c) All three (d) None
o 641, UUW T, | 21, GET AT, | 13/15, Ahe UH, ke | wife Fer-45 q 45-A kA 47/CC, afefreT
S qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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79.

80.

81.

82.

T @ a T & °ey # frefafed so =

fo=r wifsa:

1. 39 AN H1 3529 q6-2035 T qfoa= &
o Yo qonelt i GIR T R

2. 3@ ANl % ed HWenmedl i siEa T
1 50 ferel. wfa =@ @ =@ 2l

ST oAl § 9 HA-T/E T 22

(a) ®aa 1 (b) ®ad 2

(¢) 1 @2 =H (d Fa 1 RTE2

e aat o Afgen wfafifae =t adam fafq &

Hed o frfafed wol w fa=amr #ifsa:

1. ®Ed 2023 § T A T8 TSEEA gR
ST HAE T o & FIER Jfad T
o Afgenst 1 yfaffua a1 9 Jfad Ia
H 11.7% el

2. 3=9 W& W dfeansti #1 fe@sR @
27% T

ST HeA H W HHA-A TE R/R?
(a) e 1 (b) Hae 2
(c) 1 3R 2 g (d) Td 1 A2

gia wifa 2.0 & ded o, fAfafed wul |

fa=r wifsa:

1. o8 UHt wEel & fasmfad w3 W 9o 3 @
S 1el SR SfmfEr % ufa et g B

2. € wEA fafarfiewor i ween 3@ 2l

3. I8 SoOg-YarRY o fRe i faefaa
H H T w2

STH oAl ¥ 9 HA-T/A T 22

(a) ®aa | (b) A 2

(c) e 1 3R 3 (1,2 3R 3

Tertel & ar o fFefafad & ° ®HE-91 HeH

& T 7?2

(a) 98 T fT-wEA g, TRSSH dRd
T 2

(b) TV I=4 TW@ HFS, HU TER, oaHa IR
T ¥ I CO, 3R W T 9 & sefed
fopan S 2

(c) ¥& Tk Wi IR T Sl 59 g 2|

(d) TE ehied H GEd ®Y 2

79.

80.

81.

82.

&3.

Consider the following statements with reference
to the National Railway Plan:
1. The objective of this plan is to prepare the
railway system for the future by the year 2035.
2. Under this scheme, the average speed of
goods trains will be reduced to 50 km. To be
increased to per hour.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither I nor 2

(a) 1only

(c) Both1and2
Consider the following statements with reference
to the present status of women representation in
the police force:

1. According to the information provided by
the Minister of State for Home in the Rajya
Sabha in February 2023, the representation of
women in the police force was 11.7% of the
total state police force.

2. The share of women in high positions is about
27%.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2
Consider the following statements in the context
of Green Revolution 2.0:
1. It focuses on developing crops that are more
resilient to pests and diseases.
It promotes crop diversification.
3. It tries to develop climate-resilient crop
varieties.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(¢) 1and 3 only (d) 1,2and 3

Which of the following statements is not correct
about Methanol?

(a)
(b)

It is a low-carbon, hydrogen carrier fuel.

It is produced from high ash coal, agricultural
residues, CO2 generated from thermal power
plants and natural gas.

(c) Itisacolorful and odorless flammable liquid
substance.

(d)

It is the simplest form of alcohol.

Lhonak Lake is situated in which of the following

83. TeIH e Frfarad ¥ ¥ frw v o feom 22 states?
(a) #foTE (b) fafers (a) Manipur (b) Sikkim
(c) e (d) feursa ws=t (¢) Meghalaya (d) Himachal Pradesh
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID =% faeett TE, TEANRIS TGERT A, TR nt, W
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84. 3T9TEH Wi ¥ Hafya f=fafad el W faar
Hiferd:
1. o€ GUEal &A™ i 9 ol geft 39 ot
Sedr 2
2. 3 HEEd & ded Gt seathen 391 fhferdE
1 THA SR Soge &1 oY i 2

ST HeH H W HHA-A TE B2
(a) e 1 (b) Heret 2
(¢) 1 @ 2 =H (d Fa 1 RTE2

85. ffafEd weAl W fo=r HifvE:

l. WRA @R 9eH & 9 Th g Alw
U HiSE € S ged &9 9 Selfagd ®
e 21

2. 9RA e I AR AR fased @
G LAl B, S g & TS T 60% T

3. 9N e wifd iR fomar @f, 1949 wRd
I e &1 faw Hifd SR W@ R meae

00T e B
Srde | 9 fohan we wet #72
(a) HIA TH (b) HaaA I
(c) |t @ (d) ®E off T
86. FrefetfEd Il W fo=m wifsa:
(vt 4 ® WH) ()
1. sfeft - IWEE
2. Il - 3Ty TR_W
3. I - HEeH
Swfm H 9 fhrad g el e €2
(a) HId TH (b) Had qA
(c) |t @ (d) & ot 7T

87. TR TR UWHYM do Frafer! Weht-2024 &

Hed o, fr=fafaa womil W faur wifs3:

1. 9@ fomm geom (1ISC) 3 9 2017 &
9% Ygell SR 201-250 S W TE Ww
IERIRA

2. SFEEE favafommed 3 watea T g
1 2B

3. YRd 39 A &R R favefmmes Ham
o el geg sres gfdffuc e 29 B

84. Consider the following statements regarding
Abraham Accords:
1. This agreement connects all the countries
following Islam.
2. Under this agreement, all Islamic countries

support Palestine and oppose Israel.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and2
85. Consider the following statements:

1. India and Bhutan have a strong economic
partnership which is mainly based on
hydropower.

2. India imports most of Bhutan's surplus
electricity, which accounts for 60% of
Bhutan's revenue.

3. India Bhutan Treaty of Peace and Friendship,
1949 gives India significant control over the
foreign policy and defense of Bhutan.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

86. Consider the following pairs:

(Discussed places) (State)
1. Auli — Uttarakhand
2. Mulugu - Andhra Pradesh
3. Umroi - Meghalaya

How many of the above pairs are correctly
matched?

(b) Only two

(d) None

(a) Only one
(c) All three

87. Consider the following statements with reference
to the Times Higher Education World University
Rankings-2024:

1. Indian Institute of Science (IISc) has secured a
position in the 201-250 band for the first time
since 2017.

2. Oxford University has achieved the highest
ranking

3. India is now the seventh best represented

country in university rankings globally.

EERED 7 9 fha we w22 How many of the above statements are correct?
(a) ®ad TH (b) HaaA I (a) Only one (b) Only two
(c) weft 9 (d) =g off T (c) All three (d) None
e 641, VoW A, | 21, YWT AS, | 13/15, A9Tehe AT, ke | wite How-45 T 454 7d 47/CC, Eligic)
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR nt, W
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88.

89.

90.

91.

92.

gfean ufem Rue, 2023 & @y # fAfafea

FeAl W fo=R Fifee:

1. a4 2050 T WRA HI 20% © 3Tk et
T B

2. a9 2046 T R H S 1 @R T=Al
HI STEE W AT & S

ST Fe H W BHA-FA TE R/R?

(a) ®ad 1

(b) Had 2

(c) 1 @R 2 g

(d Fd 1 SRAE2

Afgeeh TR iR 2023 ¥ Fefuq fefafea

FAl W fo=m Fifee:

1. 7% O =R @R faem | 9 T
e g S R S 2

2. 9RA 7 TH gIHE § 3791 W W fRa 2

ST FoA H 9 HHA-TUA TE B2

(a) Faa | (b) o 2

(c) 1 3 2 g (d) Td 1 A2

SIS AEUYH T8, 2023 R & s1gar

freferiad o @ -9 391 Yo 1 wigtHes S

CERICI

(a) st (b) TR

(c) = (d) wa
frefafed 7 ® foaar wifm:

( TR Sfae™ & (TIFTHRI )
I & B )

1. TsraRfoft - gl

2. HENEH S LICES|

3. ITeTeATt - Tifor

S | 9 fha g o el ardig gl
# WA & wifefee da €2

(a) I TH TH  (b) HoA T I
(c) Wt 7™ (d) =iE < g &
frAfafea wol | faar wifa:

1. re SEHEE e e 2o fraeesy
1 TSfad o S fogHR & SWER 9 9rd e
ol

2. ifEaE et W % 9Rw ¥ wga e &
ISR § 9RA ST ol

3. goad HewR fod qeh A oRa Il goraH
T ST TG TR < ST o

88.

89.

90.

91.
(Source of Indian history)

92.

Consider the following statements with reference
to the India Aging Report, 2023:
1. By the year 2050, more than 20% of
India's population will be elderly.
2. By the year 2046, the population of elderly
people in India will double the population of

children.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2only
(c) Both 1 and?2
(d) Neither 1 nor 2
Consider the following statements regarding
Global Innovation Index 2023:
1. This report is issued by the United Nations
Conference on Trade and Development.

2. India has secured 37th position in this index.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only

(c) Both 1 and?2
According to the International Migration
Outlook, 2023 report, which of the following
countries has become the primary source of
migration?
(a) Italy
(c¢) China

(b) Romania
(d) India
Consider the following pairs:

(Writers)
— Kalhan
— Visakhadutta
— Panini

1. Rajtarangini
2. Mudrarakshasa
3. Ashtadhyayi

How many of the above mentioned pairs are
literary sources to know the Indian history of the
Maurya period?

(a) Only one pair
(c) All three pairs

(b) Only two pairs
(d) No pair
Consider the following statements:

1. Ptolemy Dionysius was the ambassador of
the Egyptian king Ptolemy Philadelphus who
came to India in the court of Bindusara.

2. Fa-hien came to India in the beginning
of the fourth century during the reign of
Chandragupta I.

3. Sultan Muhammad bin Tughlaq sent Arab
traveler Suleman as his ambassador to China.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR nt, W
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IwfE w9 9 SE-FUA TE 22

Which of the above statement(s) is/are correct?

(a) Had 1 (a) 1only
(b) W 2 3ﬁ—{ 3 (b) 2 and 3 OIlly
() #a 1 a3 (¢) 1and 3 only
@ 1 5 &% 3 (d) 1,2and3
. . . 93. Which of the following is not an Aranyaka text?
93. frefafed & 9 ®FA-T1 SRvasw 7o ?
) T (a) Aitare (b) Shankhayayan
(a) TR (b) M (c) Nirukt (d) Talwakar
© ) 94. According to the Global Hunger Index-2023,
94. TAISE T FSH-2023 STFER Fefafad b which of the following countries has secured the
Y forg 2w 4 offm oM rw fomen 22 last position?
(a) I (b) TR (a) Yemen (b) Afghanistan
(c) faoft gem (d) éﬁw (¢) South Sudan (d) Venezuela
95. WS URaed wtan fwid-2023 @ wafug | 95 Consider the following statements related to
ety e e Maritime Transport Review Report-2023:
T T S 3 1. According to this report, GHG emissions from
) : . . international shipping are expected to be 20%
GHG f{'c = e T # = higher in 2023 compared to a decade ago.
2023 ¥ 20% e = Rl 2. The shipping industry contributes more than
2. AREET 39 AT CH 80% H Hfersh 80% to global trade and about 3% of global
@ aﬁTﬁh— GHG 3d&s ﬁ T 3% <l GHG emissions'
AT el 2 Which of the above statements is/are correct?
IwdE oAl § W SE-a/d T 8R? (a) 1only
(a) ®aa 1 (b) 2only
(b) Fad 2 (c) Both1and2
© 1 3k 2 <M (d) Neither 1 nor 2
(d a1 AR A 2 96. Consider the following statements with reference
to the Asian Games:
96. TRTEE Tal ® w3 ¥ frefafed swer w foer
s 1. The Asian Games are held every four years
’ ] ] and the symbol of the Asian Games is
1. TR W@ g AR A H Sy @ e interconnected rings with a rising sun.
e TR gel 1 Tl S g S h 2. India is a founding member of the Asian
Bk @—W g 711,_5\’ gY ool Bl Games and also the host of the first Asian
2. 9RA UeEE ol % HEUE T § SR Games.
Tedl TRMEE Bell &1 g5 o 2 3. India is behind China and Japan in winning
3. a9 2023 H TREE Wl @ T & g § more than 100 medals in a single edition of
100 § 31fus e Siay el wRd &1 €M the Asian Games in the year 2023.
=9 3R UE # 9% 7 Which of the above statements are correct?
S e A @ w8 (@ Jand2 only
s ) s (b) 2and 3 only
@) ! 2 (b) 2 3 (¢) 1and3 only
(c) waa 1 3R 3 d 1,2 3R 3 (d) 1,2and3
97. Frefefem # ¥ ferhfew wRAfETEE F @ 97. Which of the following is the first country to
T oTell YO <9 BT B? eliminate Lymphatic filariasis?
(a) 9RA (b) wmeT| (a) India (b) Laos
(c) STsiern ORERSIEN (c) Argentina (d) Bangladesh
- 641, UOW O, | 21, YET AT, | 13/15, AI9TRSE T, e HoT-45 T 45-A 47/CC, et
s rt, freRe | @A 7 Elicicet
i 2% qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID & oot TE, TS SGERT AT, ST Tt T
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98.

99.

100.

et T & Sa o % wed o FreAfefaa wmeHi
T foar Sifsa:
1. 39 ded, S=d O H e U0 & 96 |

e SHfch SSiae wEel i Tdt SEEd
I % fod #1 St 2

2. TEH 98 WE H1 qele ®1 STAN H
A 6 e W B R S 2l

ST oAl ¥ 9 HA-T/E T 22

(a) ®aa 1 (b) ®ad 2

(¢) 1 @ 2 =H (d Fa 1 RTE2

ST uftadd R Gwtae UM @ gefud

frefafaa wol ® faer wifa:

1. IPCC % STI9R Seiarg qRadd 9 Hehmeh W
1 dfYeeh AU %9 € @ § fohq et
I # 9fg & @ R

2. Tt A IS TSR] i SHAITHE G H
BTEIGY A B, FTEE SThl Hehtehal 3R
AT KA A R

3. Sorary uRadd & IRoTmEsy wIiErd i g
SHifesk W Se HT Tk FHE HROT 2

STE § @ fohae wer wEl ©2

(a) HId TH (b) ®aa &

(c) |t @ (d) ®E off T

frafafaa 5 @ f&9 ad 2023 = o fafean

A Aied YRR O gt R T 82

98.

99.

100.

Consider the following statements with reference
to fourth generation biofuels:

1. Under this, genetically engineered crops
capable of absorbing high amounts of carbon
are cultivated for biomass production.

2. In this, biomass is converted into fuel using

third generation technology.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only

(c) Both1and2
Consider the following statements related to
climate change and infectious diseases:

1. According to IPCC, the global threat of
infectious diseases is decreasing due to
climate change but genetic diseases are
increasing.

2. Heat interferes with the genomic structure of
pathogens, thereby altering their infectivity
and virulence.

3. Habitat loss as a result of climate change is
a major reason for the increase in zoonotic
diseases.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

Who among the following has been awarded the
Nobel Prize in Medicine for the year 20237

(a) TR wmfett (b) ®H I (a) Pierre Agostini (b) Ferenc Krosz
(c) T T g (d) sherfer ik (c) Annie L. Huillier (d) Catalin Carico
641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
WS e qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID =% faeett TE, TEANRIS TGERT A, TR nt, W
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